Calculo A
Integral indefinida

Encontre a integral indefinida das fungoes a seguir
1. f(x) =1222 + 62 —5

2. f(x) = a3 — 42 +17

3. f(z) =62° — 427 + 322 4+ 1
4. flz) = 2% —22% — 1

5. flw) =Vr+

6. f(x) = Va2~ Va3

7. f(x) = 3%

8. f@)= 5 —

9. fla) =V +=
10. f(z) = /3 4 2271/3

134212

12. g(t) = Vit + 176

13. h(z) =sinz — 2cosx
14. f(t) =sint — 2yt

15. f(t) = sec?t + 2

16. f(0) = 0 + sech tanf

17. f(0) = csc? 6 — csc cot 6

1
1
19. f(x) = .
2. f(x) = e"+ 2
Determine f(x) nos exercicios as seguir

21. fl(z) =2 —22> + 2z — 1

22. f'(z) =sinz — Va2

23. f'(z) =4z +3; f(0) = -9

24. f'(x) = 1222 — 24z 4+ 1; f(1) = —2

25. f'(@) =3va — =i (1) =

29.

30.

f(
f(
A
f(
f(

D) =1+ 50> 0 f(1) =
z) = 3cosz + bsina; £(0) =
r) = sine — 25 f(0) =
w) =2+ Vad f(1)
x)=3x"% f(1) =

1
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